Animal Type Animal Unit Equivalents | Number of Animals AU’s
Mature Cow 1.00 x
Cowy/Calf Pair 1.20 x
Yearling .70 x
Weanling Calf .50 x
Bull 1.50 x
Total AU’s
Example:

Take your animal type and multiple by the Animal Unit Equivalents. Say you have 13 Cow/Calf pairs,

multiple 13 by 1.20 you will get 15.6 AU’s. Do this with all of your animals and add them together to find

your total AU’s.

Example
Animal Type Animal Unit Equivalents | Number of Animals AU’s
Mature Cow 1.00 x 5 5
Cow/Calf Pair 1.20 x 13 15.6
Yearling .70 x 7 4.9
Weanling Calf .50 x 0 0
Bull 1.50 x 2 3
Total AU’s 28.5
Example:

To calculate Animal Unit Months (AUM) we take the number of days grazed and divide that by 30. Say
you graze a pasture for 21 days divide that by 30, you get 0.7. Multiple that by your Total AU’s 28.5 x
0.7 you get 19.95 AUM. Say your bid was $15.11 your bill would come to a total of $301.44.






